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pead the passage 3 refully and write(T) for trans;twe and (1) for intransitive verhs for the
underlined verbs.

One morning, Isaac Newton got up very early because he was * working on a difficult
- problem. Amy, his house keeper, thought Newton * needed breakfast. She ™ took a pan of
~ water and an egg to his study. She * wanted to boil the egg but Newton said he * ‘would boil it
himself. Amy © told him to boil the egg for only four minutes. Then she™ left the room.

amy knew that Newton “was forgetful, soshe™ came back to check. Amy found him ™ holding

sheegginhishandand ™ boiling his watch instead. He was still *> thinking about his problem.
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The tiger is the national animal of India.

Subject -

Verb |  Complement.

oSSl SR 3

Predicate

The girls are intelligent.

Predicate

b sentence 1, ‘is’ (verb) joins the subject ‘The tiger’ and the complement ‘the national animal of
i’ |

.sfen_te'nce 2, ‘are’ (verb) joins the subject ‘The girls’ and the complement ‘intelligent’.

! -‘Q‘d’s’thé_ following. -

_ 3 smart boy L
S warm.

F IQORS e I ~**" iﬁ
e T T e T L s bravegitls s e

Scanned with CamScanner



